
ASSEMBLY INSTRUCTIONASSEMBLY INSTRUCTION

Right Corner Chair 

27 CM

RIGHT ARMREST

LEFT ARMREST

MIDDLE ARMREST

A*1

B*1

C*3

D*2

E*1

F*1

G*18

H*7

I*21

J*35

K*7

(M6x55)

B

C

D

I
J

F
C

E

I
J

L*1

M*1

(M6x40)

G
IJ

IJ
G

Middle Corner Chair 

I
J

I
J

I
J

IJ

IJ

I
J

Have Your attention
(1) Do not tighten the screws until making suer all the screws are lining up with the holes, otherwise some screws may not 
line up with the holes.
(2) If this situation occures during assembly, please loosen the screws which have been tigtened, make sure all the 
screws line up with all the holes, tighten a little and then tighten them in diagonal way again.
(3) If the product is uneven after installation, please loosen the screws, put strength on the frame, make sure all the legs 
are in the same level and then go on assembling it.



ASSEMBLY INSTRUCTIONASSEMBLY INSTRUCTION

C

A

JI

D

J
I

K
J

H

I
J

G

Left Corner Chair 

Left Corner Chair 

Right Corner Chair 

Middle Corner Chair 

I
JI

J
I
J

J
K

J
H

K
J
J
H

K
J J H

J
J H

K

K
J

J H

KJ J H

Have Your attention
(1) Do not tighten the screws until making suer all the screws are lining up with the holes, otherwise some screws may not 
line up with the holes.
(2) If this situation occures during assembly, please loosen the screws which have been tigtened, make sure all the 
screws line up with all the holes, tighten a little and then tighten them in diagonal way again.
(3) If the product is uneven after installation, please loosen the screws, put strength on the frame, make sure all the legs 
are in the same level and then go on assembling it.



ASSEMBLY INSTRUCTIONASSEMBLY INSTRUCTION

STEP3 

STEP1 STEP2 

STEP4 

A*1

B*1

C*2

D*1

E*8

F*4

(M6x20)

G*12

C

E
GC

D

B

GF

A

H*1

(M6x40)

E
G

E
G

E
G

F
G

Have Your attention
(1) Do not tighten the screws until making suer all the screws are lining up with the holes, otherwise some screws may not 
line up with the holes.
(2) If this situation occures during assembly, please loosen the screws which have been tigtened, make sure all the 
screws line up with all the holes, tighten a little and then tighten them in diagonal way again.
(3) If the product is uneven after installation, please loosen the screws, put strength on the frame, make sure all the legs 
are in the same level and then go on assembling it.


